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 / ndf 2χ  36.16 / 25

p0        0.0±  3914 

p1        0.0001909± -0.0002971 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4)

TP delay [ns]
0 20 40 60 80 100

3910
TVC (Mean) vs TP delay (c,b,ch)=(4,2,5) / ndf 

2χ  46.42 / 25

p0        0.0±  3910 

p1        1.83e-04± -4.24e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)

TP delay [ns]
0 20 40 60 80 100

3904

3905

3906

3907

3908

3909

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)
 / ndf 2χ  26.82 / 25

p0        0.0±  3909 

p1        1.679e-04± -9.805e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)
 / ndf 2χ  41.56 / 25

p0        0.0±  3912 

p1        0.0001768± -0.0002925 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)

TP delay [ns]
0 20 40 60 80 100

3904

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)
 / ndf 2χ  40.11 / 25

p0        0.0±  3904 

p1        0.0001932± -0.0001051 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)
 / ndf 2χ  19.54 / 25

p0        0.0±  3911 

p1        0.0001817± 0.0002056 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)

TP delay [ns]
0 20 40 60 80 100

3908

3909

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)
 / ndf 2χ  33.22 / 25

p0        0.0±  3910 

p1        0.0001777± 0.0002715 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11) / ndf 
2χ  32.72 / 25

p0        0.0±  3915 

p1        1.84e-04± 1.03e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)

TP delay [ns]
0 20 40 60 80 100

3893

3894

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)
 / ndf 2χ  32.01 / 25

p0        0.0±  3894 

p1        0.0001839± -0.0001213 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)
 / ndf 2χ  25.78 / 25

p0        0.0±  3894 

p1        0.0001715± 0.0001687 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)
 / ndf 2χ  44.09 / 25

p0        0.0±  3899 

p1        0.0001744± 0.0001748 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)

TP delay [ns]
0 20 40 60 80 100

3897

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)
 / ndf 2χ  21.23 / 25

p0        0.0±  3897 

p1        1.970e-04± 2.464e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)
 / ndf 2χ  29.28 / 25

p0        0.0±  3920 

p1        1.771e-04± 8.849e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)
 / ndf 2χ  35.67 / 25

p0        0.0±  3913 

p1        1.858e-04± 4.558e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)
 / ndf 2χ  22.93 / 25

p0        0.0±  3914 

p1        1.774e-04± 5.604e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)
 / ndf 2χ  41.98 / 25

p0        0.0±  3915 

p1        1.934e-04± -8.797e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)
 / ndf 2χ  33.73 / 25

p0        0.0±  3910 

p1        1.787e-04± 7.062e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)

TP delay [ns]
0 20 40 60 80 100

3900

3901

3902

3903

3904

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)
 / ndf 2χ  50.06 / 25

p0        0.0±  3905 

p1        0.0001962± 0.0002317 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)
 / ndf 2χ  31.69 / 25

p0        0.0±  3930 

p1        2.086e-04± -2.368e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)

TP delay [ns]
0 20 40 60 80 100

3919

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)
 / ndf 2χ  24.88 / 25

p0        0.0±  3919 

p1        1.801e-04± -3.525e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)
 / ndf 2χ  26.27 / 25

p0        0.0±  3923 

p1        1.940e-04± -7.592e-07 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)

TP delay [ns]
0 20 40 60 80 100

3912

3913

3914

3915

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)
 / ndf 2χ  24.34 / 25

p0        0.0±  3916 

p1        1.931e-04± 7.126e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)
 / ndf 2χ   31.6 / 25

p0        0.0±  3914 

p1        0.0001934± -0.0005501 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)
 / ndf 2χ  42.29 / 25

p0        0.0±  3925 

p1        0.0001805± 0.0002618 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)
 / ndf 2χ   54.8 / 25

p0        0.0±  3933 

p1        0.0001887± 0.0003244 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)
 / ndf 2χ  49.99 / 25

p0        0.0±  3927 

p1        0.0001755± -0.0001192 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)
 / ndf 2χ  43.37 / 25

p0        0.0±  3928 

p1        0.0001913± 0.0001992 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)
 / ndf 2χ  35.15 / 25

p0        0.0±  3931 

p1        1.687e-04± 2.738e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)



TP delay [ns]
0 20 40 60 80 100

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)
 / ndf 2χ     29 / 25

p0        0.0±  3917 

p1        0.0001791± -0.0001607 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1) / ndf 
2χ   36.9 / 25

p0        0.0±  3915 

p1        0.000193± -0.000237 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)
 / ndf 2χ   32.9 / 25

p0        0.0±  3929 

p1        1.801e-04± -4.651e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)
 / ndf 2χ  40.51 / 25

p0        0.0±  3923 

p1        1.890e-04± -6.251e-06 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)
 / ndf 2χ  26.31 / 25

p0        0.0±  3925 

p1        0.0001869± 0.0001241 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)
 / ndf 2χ   44.4 / 25

p0        0.0±  3930 

p1        0.0001886± 0.0001519 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)
 / ndf 2χ  10.87 / 25

p0        0.0±  3926 

p1        0.0001942± 0.0004091 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)

TP delay [ns]
0 20 40 60 80 100

3918

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)
 / ndf 2χ  30.04 / 25

p0        0.0±  3918 

p1        1.935e-04± 7.752e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)
 / ndf 2χ   39.1 / 25

p0        0.0±  3942 

p1        0.0001858± -0.0003647 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)
 / ndf 2χ  57.99 / 25

p0        0.0±  3941 

p1        2.007e-04± 7.307e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)

TP delay [ns]
0 20 40 60 80 100

3941

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10) / ndf 
2χ  19.17 / 25

p0        0.0±  3941 

p1        2.02e-04± -5.18e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)
 / ndf 2χ  19.11 / 25

p0        0.0±  3935 

p1        0.0001821± -0.0002128 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)

TP delay [ns]
0 20 40 60 80 100

3927

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)
 / ndf 2χ  23.36 / 25

p0        0.0±  3928 

p1        0.0002057± 0.0004073 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)

TP delay [ns]
0 20 40 60 80 100

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)
 / ndf 2χ  16.78 / 25

p0        0.0±  3938 

p1        0.0001807± 0.0003372 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)
 / ndf 2χ  25.09 / 25

p0        0.0±  3935 

p1        0.0001835± 0.0001526 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)
 / ndf 2χ  28.57 / 25

p0        0.0±  3927 

p1        0.0001860± 0.0003531 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)
 / ndf 2χ   15.2 / 25

p0        0.0±  3915 

p1        0.0001991± 0.0001939 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)
 / ndf 2χ  31.86 / 25

p0        0.0±  3912 

p1        0.0001828± 0.0003298 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)
 / ndf 2χ  37.93 / 25

p0        0.0±  3918 

p1        0.0001839± 0.0005289 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)
 / ndf 2χ  34.13 / 25

p0        0.0±  3923 

p1        0.0001808± 0.0004195 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4) / ndf 
2χ  28.09 / 25

p0        0.0±  3911 

p1        0.000197± -0.000219 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)
 / ndf 2χ  25.86 / 25

p0        0.0±  3906 

p1        0.0001949± -0.0006516 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)
 / ndf 2χ  23.66 / 25

p0        0.0±  3917 

p1        0.0001873± -0.0006038 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)
 / ndf 2χ  25.97 / 25

p0        0.0±  3908 

p1        0.0001812± -0.0004136 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)
 / ndf 2χ  19.38 / 25

p0        0.0±  3938 

p1        1.882e-04± 2.311e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)
 / ndf 2χ  28.95 / 25

p0        0.0±  3935 

p1        0.0001854± 0.0002655 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)
 / ndf 2χ  53.28 / 25

p0        0.0±  3937 

p1        0.0001828± 0.0001511 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)
 / ndf 2χ  43.36 / 25

p0        0.0±  3933 

p1        0.0001842± 0.0002967 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)
 / ndf 2χ  25.28 / 25

p0        0.0±  3935 

p1        0.0001959± 0.0001019 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)

TP delay [ns]
0 20 40 60 80 100

3931

3932

3933

3934

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)
 / ndf 2χ  20.43 / 25

p0        0.0±  3935 

p1        0.0001834± 0.0002443 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)
 / ndf 2χ  26.01 / 25

p0        0.0±  3939 

p1        0.0001761± 0.0002087 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)

TP delay [ns]
0 20 40 60 80 100

3934

3935

3936

3937

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)
 / ndf 2χ  26.39 / 25

p0        0.0±  3938 

p1        0.0001807± 0.0002209 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)
 / ndf 2χ  42.48 / 25

p0        0.0±  3921 

p1        1.895e-04± -3.116e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)

TP delay [ns]
0 20 40 60 80 100

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)
 / ndf 2χ  37.35 / 25

p0        0.0±  3924 

p1        1.982e-04± -3.037e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)
 / ndf 2χ  23.41 / 25

p0        0.0±  3931 

p1        0.0001875± -0.0001294 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)
 / ndf 2χ   37.5 / 25

p0        0.0±  3926 

p1        1.910e-04± -5.244e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)

TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)
 / ndf 2χ  47.63 / 25

p0        0.0±  3915 

p1        0.0001932± 0.0004046 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)
 / ndf 2χ  43.14 / 25

p0        0.0±  3913 

p1        0.0001824± 0.0005888 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)

TP delay [ns]
0 20 40 60 80 100

3913

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)
 / ndf 2χ  35.66 / 25

p0        0.0±  3913 

p1        1.852e-04± 7.157e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)
 / ndf 2χ  40.48 / 25

p0        0.0±  3912 

p1        1.821e-04± 4.089e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8) / ndf 
2χ  28.15 / 25

p0        0.0±  3925 

p1        2.01e-04± -1.25e-06 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)
 / ndf 2χ  30.18 / 25

p0        0.0±  3916 

p1        0.0001811± 0.0001623 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)
 / ndf 2χ  23.36 / 25

p0        0.0±  3915 

p1        0.0001812± -0.0001401 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11) / ndf 
2χ  26.46 / 25

p0        0.0±  3922 

p1        1.79e-04± -1.27e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12) / ndf 
2χ   27.7 / 25

p0        0.0±  3929 

p1        0.000176± -0.000403 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)
 / ndf 2χ  41.51 / 25

p0        0.0±  3928 

p1        0.0002072± -0.0005295 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)

TP delay [ns]
0 20 40 60 80 100

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)
 / ndf 2χ  14.65 / 25

p0        0.0±  3917 

p1        0.0001714± -0.0001306 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)
 / ndf 2χ  48.67 / 25

p0        0.0±  3925 

p1        1.774e-04± 8.326e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)
 / ndf 2χ  33.78 / 25

p0        0.0±  3942 

p1        0.0001901± -0.0004394 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)
 / ndf 2χ  36.46 / 25

p0        0.0±  3944 

p1        0.0002018± -0.0002554 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)
 / ndf 2χ  41.11 / 25

p0        0.0±  3939 

p1        0.0001917± -0.0001324 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)
 / ndf 2χ  44.64 / 25

p0        0.0±  3942 

p1        0.0001877± -0.0001571 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4) / ndf 
2χ  21.16 / 25

p0        0.0±  3928 

p1        1.92e-04± 3.36e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)
 / ndf 2χ  30.14 / 25

p0        0.0±  3927 

p1        0.0001873± 0.0001624 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)
 / ndf 2χ  23.32 / 25

p0        0.0±  3931 

p1        0.0002086± 0.0001649 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)

TP delay [ns]
0 20 40 60 80 100

3941

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)
 / ndf 2χ  26.65 / 25

p0        0.0±  3941 

p1        0.0002032± 0.0003882 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)

TP delay [ns]
0 20 40 60 80 100

3934

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)
 / ndf 2χ  28.75 / 25

p0        0.0±  3934 

p1        1.935e-04± 5.234e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)
 / ndf 2χ  47.62 / 25

p0        0.0±  3930 

p1        0.0001801± 0.0004621 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)
 / ndf 2χ  38.85 / 25

p0        0.0±  3925 

p1        0.0001730± 0.0002949 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)
 / ndf 2χ  34.19 / 25

p0        0.0±  3925 

p1        0.0001839± 0.0001334 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12) / ndf 
2χ  21.98 / 25

p0        0.0±  3952 

p1        0.00018± -0.00029 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)

TP delay [ns]
0 20 40 60 80 100

3947

3948

3949

3950

3951

3952

3953

3954

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)
 / ndf 2χ  29.32 / 25

p0        0.0±  3954 

p1        0.0001845± -0.0002968 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)
 / ndf 2χ  20.61 / 25

p0        0.0±  3952 

p1        0.0001945± 0.0001551 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)

TP delay [ns]
0 20 40 60 80 100

3956

3957

3958

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)
 / ndf 2χ  18.54 / 25

p0        0.0±  3958 

p1        0.0001949± -0.0005119 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0) / ndf 
2χ  32.92 / 25

p0        0.0±  3913 

p1        0.000198± 0.000241 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)
 / ndf 2χ  37.39 / 25

p0        0.0±  3912 

p1        1.811e-04± -5.314e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)
 / ndf 2χ  22.55 / 25

p0        0.0±  3923 

p1        0.0001750± 0.0006246 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)
 / ndf 2χ     25 / 25

p0        0.0±  3917 

p1        0.0001780± 0.0004727 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4) / ndf 
2χ  38.03 / 25

p0        0.0±  3916 

p1        2.02e-04± 8.39e-06 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)

TP delay [ns]
0 20 40 60 80 100

3908

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)
 / ndf 2χ  44.02 / 25

p0        0.0±  3908 

p1        1.801e-04± -9.327e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)
 / ndf 2χ  33.51 / 25

p0        0.0±  3910 

p1        1.935e-04± 9.003e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)
 / ndf 2χ   21.7 / 25

p0        0.0±  3911 

p1        0.0001895± -0.0001774 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)

TP delay [ns]
0 20 40 60 80 100

3905

3906

3907

3908

3909

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)
 / ndf 2χ  28.93 / 25

p0        0.0±  3910 

p1        0.0001858± 0.0002054 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)
 / ndf 2χ  22.93 / 25

p0        0.0±  3909 

p1        1.694e-04± 5.551e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10) / ndf 
2χ   33.6 / 25

p0        0.0±  3911 

p1        0.000170± 0.000189 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)
 / ndf 2χ  19.76 / 25

p0        0.0±  3915 

p1        0.0001772± 0.0003147 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)

TP delay [ns]
0 20 40 60 80 100

3897

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)
 / ndf 2χ  35.75 / 25

p0        0.0±  3897 

p1        0.0001907± 0.0001253 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)
 / ndf 2χ   41.2 / 25

p0        0.0±  3901 

p1        1.808e-04± 7.503e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)
 / ndf 2χ  29.63 / 25

p0        0.0±  3903 

p1        0.0001922± 0.0005735 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)

TP delay [ns]
0 20 40 60 80 100

3905

3906

3907

3908

3909

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)
 / ndf 2χ  25.62 / 25

p0        0.0±  3909 

p1        0.0001822± 0.0004527 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)
 / ndf 2χ  25.75 / 25

p0        0.0±  3954 

p1        0.0001923± -0.0002393 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)
 / ndf 2χ  25.33 / 25

p0        0.0±  3946 

p1        1.773e-04± -7.628e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)
 / ndf 2χ  24.97 / 25

p0        0.0±  3949 

p1        0.0001927± -0.0001028 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)
 / ndf 2χ  24.96 / 25

p0        0.0±  3955 

p1        0.0001931± -0.0003074 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)
 / ndf 2χ  25.87 / 25

p0        0.0±  3928 

p1        0.0002094± 0.0002691 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)

TP delay [ns]
0 20 40 60 80 100

3934

3935

3936

3937

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5) / ndf 
2χ   21.3 / 25

p0        0.0±  3938 

p1        0.000195± 0.000668 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)

TP delay [ns]
0 20 40 60 80 100

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6)
 / ndf 2χ  37.78 / 25

p0        0.0±  3942 

p1        0.0001948± 0.0003452 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6)

TP delay [ns]
0 20 40 60 80 100

3940

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)
 / ndf 2χ  25.71 / 25

p0        0.0±  3940 

p1        0.0002149± 0.0005696 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)

TP delay [ns]
0 20 40 60 80 100

3929

3930

3931

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)
 / ndf 2χ  29.61 / 25

p0        0.0±  3932 

p1        0.0001808± 0.0003882 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9)
 / ndf 2χ  20.69 / 25

p0        0.0±  3935 

p1        0.0001889± 0.0005554 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)
 / ndf 2χ  34.87 / 25

p0        0.0±  3936 

p1        0.0001917± 0.0004458 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11) / ndf 
2χ  32.65 / 25

p0        0.0±  3933 

p1        0.000174± 0.000605 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)

TP delay [ns]
0 20 40 60 80 100

3934

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)
 / ndf 2χ  44.22 / 25

p0        0.0±  3934 

p1        0.0001884± 0.0004106 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)

TP delay [ns]
0 20 40 60 80 100

3928

3929

3930

3931

3932

3933
TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)

 / ndf 2χ  24.46 / 25

p0        0.0±  3933 

p1        0.0001816± 0.0002602 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)
 / ndf 2χ  37.65 / 25

p0        0.0±  3928 

p1        0.0001828± 0.0004914 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15) / ndf 
2χ   21.9 / 25

p0        0.0±  3937 

p1        0.000190± 0.000237 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)
 / ndf 2χ  16.42 / 25

p0        0.0±  3901 

p1        0.0001821± -0.0003476 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)
 / ndf 2χ  27.53 / 25

p0        0.0±  3916 

p1        0.0001988± 0.0002985 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)
 / ndf 2χ   59.4 / 25

p0        0.0±  3906 

p1        1.826e-04± -8.568e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)
 / ndf 2χ  29.38 / 25

p0        0.0±  3911 

p1        1.705e-04± 2.899e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)

TP delay [ns]
0 20 40 60 80 100

3926

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)
 / ndf 2χ  26.86 / 25

p0        0.0±  3928 

p1        0.0002092± 0.0001033 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)

TP delay [ns]
0 20 40 60 80 100

3922

3923

3924

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)
 / ndf 2χ   33.5 / 25

p0        0.0±  3926 

p1        0.0001859± 0.0001211 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)

TP delay [ns]
0 20 40 60 80 100

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)
 / ndf 2χ  33.78 / 25

p0        0.0±  3931 

p1        0.0001918± 0.0002169 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)

TP delay [ns]
0 20 40 60 80 100

3927

3928

3929

3930

3931

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)
 / ndf 2χ  23.79 / 25

p0        0.0±  3933 

p1        0.0001781± 0.0001417 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)
 / ndf 2χ   25.1 / 25

p0        0.0±  3916 

p1        0.0001803± 0.0004765 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)
 / ndf 2χ  23.18 / 25

p0        0.0±  3917 

p1        0.0001831± 0.0004846 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)
 / ndf 2χ  33.08 / 25

p0        0.0±  3916 

p1        0.0001796± 0.0003829 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)
 / ndf 2χ  18.31 / 25

p0        0.0±  3921 

p1        1.884e-04± 8.239e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)

TP delay [ns]
0 20 40 60 80 100

3922

3923

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)
 / ndf 2χ  35.77 / 25

p0        0.0±  3924 

p1        1.967e-04± -7.388e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13)
 / ndf 2χ  47.03 / 25

p0        0.0±  3938 

p1        0.0001769± 0.0002624 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)
 / ndf 2χ  38.81 / 25

p0        0.0±  3937 

p1        0.0001868± -0.0002295 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)

TP delay [ns]
0 20 40 60 80 100

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15)
 / ndf 2χ  57.28 / 25

p0        0.0±  3926 

p1        1.817e-04± 5.272e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)
 / ndf 2χ  13.12 / 25

p0        0.0±  3924 

p1        0.0002195± 0.0004197 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1) / ndf 
2χ  31.66 / 25

p0        0.0±  3932 

p1        0.000187± 0.000654 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)
 / ndf 2χ   84.5 / 25

p0        0.0±  3930 

p1        0.0001877± 0.0005809 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)

TP delay [ns]
0 20 40 60 80 100

3921

3922

3923

3924

3925

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)
 / ndf 2χ  29.61 / 25

p0        0.0±  3926 

p1        0.0001990± 0.0002611 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)

TP delay [ns]
0 20 40 60 80 100

3946

3947

3948

3949

3950

3951

3952

3953
TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)

 / ndf 2χ  40.44 / 25

p0        0.0±  3953 

p1        0.0001928± 0.0003449 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)
 / ndf 2χ  39.83 / 25

p0        0.0±  3945 

p1        0.0001993± 0.0003712 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)
 / ndf 2χ  32.68 / 25

p0        0.0±  3951 

p1        0.0001907± 0.0004054 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7) / ndf 
2χ  23.46 / 25

p0        0.0±  3950 

p1        1.79e-04± 9.82e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)
 / ndf 2χ  42.96 / 25

p0        0.0±  3926 

p1        0.0001829± 0.0004883 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)

TP delay [ns]
0 20 40 60 80 100

3927

3928

3929

3930

3931

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9) / ndf 
2χ  23.75 / 25

p0        0.0±  3932 

p1        0.000190± 0.000636 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)

TP delay [ns]
0 20 40 60 80 100

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)
 / ndf 2χ  33.79 / 25

p0        0.0±  3933 

p1        1.836e-04± 9.841e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)

TP delay [ns]
0 20 40 60 80 100

3921

3922

3923

3924

3925

3926

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)
 / ndf 2χ  28.18 / 25

p0        0.0±  3927 

p1        0.0001906± 0.0007531 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)

TP delay [ns]
0 20 40 60 80 100

3926

3927

3928

3929

3930

3931

3932

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)
 / ndf 2χ  30.65 / 25

p0        0.0±  3933 
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,10)

TP delay [ns]
0 20 40 60 80 100

3911
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,13)
 / ndf 2χ  48.92 / 25

p0        0.0±  3896 

p1        0.0002010± 0.0002421 
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,6)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,1)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,5) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,9)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,14)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,15)
 / ndf 2χ   30.7 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,0)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,2)
 / ndf 2χ  36.48 / 25

p0        0.0±  3935 

p1        0.0001892± 0.0005208 
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,6)

TP delay [ns]
0 20 40 60 80 100

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,15,7)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,7)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,9)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,12)
 / ndf 2χ  30.47 / 25

p0        0.0±  3931 

p1        0.0001752± 0.0002117 
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,15)
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